Rk BR.LEX

T KELLICEEI HERRAE(TER O RRIR)

BARAEZRDIER SEfIhDERE

B B & & 143E2005

(5 2l £ I\FE

At £ ih AERER & 4 BT 7o 4R/ \ Fo 4
HOE ¥ B B L iRELE KA

(VA

[%](S=1:200,000)

BLRE(S=1:2

5,000)



—]

AEMRMOBRRERE
BR3—1 BEOEThOHELL ELLEEOSThOHZLIOBRTR ) _ REEE LR 2T IR
2 18 31 ) fu B @Emes 14362005 | A% 7 Y T il S
3 N
\\
/ /

s m——

R

m Ltim
A T

PRI BEOEETNDH LI HDRIE

3 ELLVEEDE TN DH ST DR

TREDBEIZLDHH100kN/MEIBZ D EHE
C TR0 EEINIMEEZHEH

&5FR



RIER b AR X EGEH =

B3 —2 BEMICEAT HLBESNOERICE I HEE1/1) _ _ REEE | IR 2TEE
2EFt0aE | EpES | 143E2005 [EliES T FRTEMD | JHRES 2 i ] PR e 74
) SERMO TinlICEET S ZEH A
Eﬁg TREOBEBOSILHOKRES TERFEDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREZEOHBESEILADKES
&S X 4 Er%r'n‘c; ‘Fﬁb\(‘z)@ﬁﬁ%’é jj(iifn?)é Z 4 'Fﬁﬁﬁ?é\ézg;kzlz z.%r'n‘c)k jj(lfifn:é)é Z 4 ﬁf J:ﬁﬁb\(‘:)o)tt'.%' jj(lfifn?)é X 4 J:ﬁn“ﬁ;b\(i)o)tt‘.%' ‘(.%.r'g jj(lf;iql’:f)é
7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 4.64 57.88 | =S | 000 ~ 464 | 1.86 9.38 st 1.00 | 6.00 ~ 5.00 57.88 | =LA | 5.00 ~ 6.00| 1.86 9.38
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 7.38 94.18 | #nS | 000 ~ 7.38)| 1.94 979 st 1.00 | .00 ~ 1110 94.18 | =hAS | 5,00 ~ 11.10| 1.94 979
3 100kN/m%E#8z5 | 1.00 | 000 ~ 1.15| 11729 |3mz#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 10565 ~ 1420| 11729 |3m%E#Z5 - ~ — — —
s 100|115 ~ 893 100.00 | =nst | 0oo ~ 893|216 10.89 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 1420 2.16 10.89
4 100kN/m%E#BZ5 | 1.00 | 000 ~ 053] 107.83 |3mEEZD| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1053 ~ 1200 107.83 |3mE#Bz2% - ~ — — —
s 1.00 | 0.53 ~ 831 100.00 | #nst | 000 ~ 831|219 11.09 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1200| 2.19 11.09
5 100kN/m%E#BZ5 | 1.00 | 000 ~ 156 12387 |3mEEBZD| — ~ — — — | 100kN/ %8825 | 1.00 | 10563 ~ 1590| 12387 |3m&E#Z5 - ~ — — —
s 1.00 | 1.56 ~ 9.35 100.00 | #nlst | 0.00 ~ 9.35| 2.36 11.92 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 5.00 ~ 1590 2.36 11.92
P 100kN/m%E#8z5 | 1.00 | 000 ~ 1.78| 12738 |3mzx#8z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1059 ~ 17.30| 12738 |3m%E#z25 - ~ — — —
s 1.00 | 1.78 ~ 957 100.00 | =nlst | 0.00 ~ 9.57| 2.32 11.72 st 1.00 | 6.00 ~ 10.59 100.00 | =nst | 6.00 ~ 1730 2.52 11.72
- 100kN/mi%E#2% | 1.00|0.00 ~ 200 130.91 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1059 ~ 1860| 130.91 |3m%E#Z5 - ~ — — —
s 1.00 | 200 ~ 9.79 100.00 | #nlst | 0.00 ~ 9.79 | 2.32 11.71 st 1.00 | 6.00 ~ 1059 100.00 | =nst | 5.00 ~ 1860 2.52 11.71
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